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ﬁg TREDBBOEILADKES TREFDOHERELHDKRES TREDOBBOESLADKES TREDHESILEIDKRES
= = YA 7 = T = = WE A\ = = = | =
7 100kN/m##25| 1.00| 000 ~ 031 104.55 |3m&EBZB| — ~ — — — | 100kN/m%EHBZB| 1.00 | 1063 ~ 1150 104.55 |3mZEHBZ3 -~ — — —
zh s 1.00 | 031 ~ 809 100.00 | #nds | 000 ~ 809|212 11.35 zh st 1.00 | 5.00 ~ 1063 100.00 | =ndS | .00 ~ 1150|212 11.35
2 100kN/m#%#BZ%| 100|000 ~ 292 14637 |3mEBZZ| — ~ — — — | 100kN/Mi%#8Z5 | 1.00 | 10.66 ~ 2454 146.37 |3mEHEAS -~ — — —
zh st 100|292 ~ 1071 100.00 | Ths | 000 ~ 1071|281 15.05 zh sk 100|500 ~ 1066 100.00| Ths5 | 500 ~ 2454|281 15.05
3 100kN/m##25| 1.00| 000 ~ 271 14267 |3m&xEZB| — ~ — — — [ 100kN/m#Z#Z25 | 1.00 | 1081 ~ 2761 142.67 |3m%EHEAS -~ — — —
zh sk 100|271 ~ 1049 100.00 | Thdst | 0.00 ~ 1049 2.90 15.50 zh st 100|500 ~ 1081 100.00 | =hs | 5.00 ~ 2761|290 15.50
4 100kN/m#§25| 1.00| 000 ~ 301 147.86 |3m%EfBZ B[ 0.00 ~ 0.08)] 3.04 16.27 | 100kN/m%E#BZ5 | 1.00 | 1068 ~ 31.07| 147.86 |3mZE#BZ 3| 3000 ~ 3107| 3.04 16.27
zh sk 100|301 ~ 1079 100.00 | Thist | 0.08 ~ 1079 3.00 16.05 zh st 100|500 ~ 1068 100.00 | Zhs | 500 ~ 3000| 3.00 16.05
5 100kN/m#%#BZ 5| 1.00 | 000 ~ 306 14864 |3m%EEZB| 000 ~ 010 3.05 16.31 | 100kN/m%#BZ5 | 1.00 | 1066 ~ 3155 148.64 |3mZE#BZB| 3000 ~ 3155| 3.05 16.31
zh s 100|306 ~ 1084 100.00| ThLS | 0.10 ~ 1084| 3.00 16.05 zh st 100|500 ~ 1066 100.00 | =hs | 500 ~ 3000| 3.00 16.05
6 100kN/m##Z25| 1.00 | 000 ~ 241 137.62 |3m&xEZB| — ~ — — — [ 100kN/M#%#EZ25 | 1.00 | 11.20 ~ 2120 137.62 |3mZEEZD -~ — — —
zh s 100|241 ~ 1019 100.00 | Th5 | 000 ~ 1019 2.95 15.77 zh sk 100|500 ~ 1120 100.00 | Zhs | 500 ~ 2120|2.95 15.77
7 100kN/m##x5| 1.00)| 000 ~ 218 133.87 |3m&xEZB| — ~ — — — | 100kN/mM%E#BZ5 | 1.00 | 1054 ~ 19.00| 133.87 |3mEHBZ% -~ — — —
zh sk 1.00 | 218 ~ 997 100.00 | #nds | 0.00 ~ 997 | 2.40 12.84 zh st 1.00 | 5.00 ~ 1054 100.00 | #nS | 6.00 ~ 19.00| 2.40 12.84
g 100kN/m##z25| 1.00)| 000 ~ 208 13224 |3m&xEZB| — ~ — — — | 100kN/m%E#BZ5| 1.00 | 1053 ~ 1860 13224 |3mZEHBZ3 -~ — — —
zh st 1.00 | 208 ~ 987 100.00 | =nAS | 000 ~ 987|237 12.66 zh s 1.00 | 5.00 ~ 1053 100.00 | =nAS | 5.00 ~ 1860| 2.37 12.66
9 100kN/m#%#BZ%| 100|000 ~ 207| 13213 |3mZEBZZ| — ~ — — — | 100kN/mM%E#BZ5 | 1.00 | 1081 ~ 1850 | 13213 |3m%EHBZ% -~ — — —
zh sk 100|207 ~ 986 100.00 | ThUs | 000 ~ 986|251 13.43 zh st 100|500 ~ 1081 100.00 | =hs | 5.00 ~ 1850| 2.51 13.43
10 100kN/m#%#8Z % - -~ = —[3mZEBRB[ — ~ — — — | 100kN/MiZ# 8% % — -~ — —[3mZEBZ 2 -~ — — —
ThLlst 100|000 ~ 767 98.40 | TS | 0.00 ~ 7.67| 2.04 10.94 ThLlst 100|500 ~ 1072 98.40 | ThUS | 5.00 ~ 10.72| 2.04 10.94
11 100kN/m##25| 1.00| 000 ~ 0.71 110.57 |3m&xEZB| — ~ — — — | 100kN/mZ#B25 | 1.00 | 11.38 ~ 1400| 110.57 |3mE#BZ3 -~ — — —
ThLlst 100071 ~ 849 100.00 | ThUs | 000 ~ 849|201 10.75 ThLlst 100|500 ~ 11.38| 100.00 | Ths | 500 ~ 1400| 2.01 10.75
12 100kN/m#%#BZ2%| 100|000 ~ 077 11148 |3mZEBZ3| — ~ — — — [ 100kN/m#% X5 | 1.00 | 1081 ~ 1330 111.48 |3mZEEZSD -~ — — —
zh s 100|077 ~ 855 100.00 | #nds | 000 ~ 855|208 11.12 zh s 1.00 | 5.00 ~ 1081 100.00 | =ndS | 6.00 ~ 1330 2.08 11.12
13 100kN/m#%#8 % % - -~ = —[3mZEBRB[ — ~ — — — | 100kN/Mi%# 8% % — -~ — —[3mZEBZ 2 -~ — — —
ThLlst 100|000 ~ 751 9599 | FhLs | 000 ~ 751|205 10.99 ThLlst 100|500 ~ 1020 95.99 | ThUSY | 5,00 ~ 1020 2.05 10.99
14 100kN/m#%#8Z % - -~ = —[3mZEBRB[ — ~ — — — | 100kN/Mi%# 8% % — -~ — —[3mZEBZ 2 -~ — — —
zh st 1.00 | 0.00 ~ 574 71.72 | ThLS | 000 ~ 574|175 9.38 zh sk 1.00 | 5.00 ~ 6.40 71.72 | #nUS | 6.00 ~ 640|175 9.38
15 100kN/m#%#8 % % - -~ = —[3mZEBRB[ — ~ — — — | 100kN/MiZ# 8% % — -~ — —[3mZEBZ 2 -~ — — —
Zzh s 1.00 1000 ~ 521 64.92 | TN | 000 ~ 521|175 9.35 Zzh s 1.00 | 5.00 ~ 5.60 64.92 | NS | 5,00 ~ 560 1.75 .9.35_
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[ RERRONE | Bhas 76351006 B3 | Tt T Gl BRE - i
, BRSO TREET 5L EBEEA
ool TREOBHOBELNDRES TRBOERBEL NOKRES LREOBHOBILNDREE fREOREBLNDRES
o = 1= = e T = = = = = e = =
gy _— WE [ TRACOBE | AOREE | | TRDEOKF| W | hoAET _— BE [ LRACORS | HOXEE| o, | WA COWE | BS [ AoREE
o [evmEEAs | | - ~ - “mzmra| - ~ | - “Troowmzgzs| | - ~ - “emEmza| - - | - -
Zhust 1.00 | 000 ~ 477 59.41 | FnLS | 000 ~ 477 1.76 9.40 Fh Lt 1.00 ) 5.00 ~ 5.00 59.41 | FhLS | 500 ~ 500 )| 1.76 9.40
T00KN, MZ B2 5 - It - T00KN, MZ B2 5 - ImEBAD -
Rt ~ st ~ st ~ st -
T00KN, MZ B2 5 - It - T00KN, MZ B2 5 - mEAD -
Rt ~ st ~ Rt ~ st -
T00KN, MZ B2 5 - It - T00KN, MZ 1B 5 - mEAD -
st ~ st ~ st ~ st -
T00KN, MZ B2 5 - It - T00KN, MZ B2 5 - ImEAD -
st ~ st ~ st ~ st -
T00KN, MZ B2 5 - It - T00KN, MZ B2 5 - ImEBAD -
Rt ~ st ~ Rt ~ st -
T00KN, MZ B2 5 - It - T00KN, MZ B2 5 - mEAD -
Rt ~ st ~ Rt ~ st -
T00KN, MZ B2 5 - It - T00KN, MZ B2 5 - mEAD -
st ~ st ~ st ~ st -
T00KN, MZ B2 5 - It - T00KN, MZ B2 5 - ImEBAD -
Rt ~ st ~ st ~ st -
T00KN, MZ B2 5 - It - T00KN, MZ B2 5 - mEAD -
Rt ~ st ~ Rt ~ st -
T00KN, MZ B2 5 - It - T00KN, MZ 1B 5 - ImEAD -
Rt ~ st ~ Rt ~ st -
T00KN, MZ B2 5 - It - T00KN, MZ B2 5 - ImEAD -
Rt ~ st ~ Rt ~ st -
T00KN, MZ B2 5 - It - T00KN, MZ B2 5 - ImEAD -
Rt ~ st ~ Rt ~ st -
T00KN, MZ B2 5 - mEBAS - T00KN, MZ B2 5 - ImEAD -
st ~ st ~ st ~ st -
T00KN, MZ B2 5 - It - T00KN, MZ B2 5 - mEBAD -
2k ~ sk ~ 2k ~ sk -
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